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 A(-2,0)  ,  B(5,0)א.   (1

 C(0,10). 1ב     

  35  .2ב     

 D(3,10) .1ג     

 50 . 2ג      

 

 פריטים. 2,930(   א. 2

 פריטים. 26,580ב.       

 .₪ 25,516,800ג.       

 

 .הילדיםבריכת  – 1(   א. גרף 3

 המבוגרים.בריכת  – 2גרף           

 מ"ק מים. 380 –. בריכת הילדים ב      

 מ"ק מים. 1600 –בריכת המבוגרים           

 מ"ק מים. 944.784ג.       

 .1.2ד. פי       

 

 DC = ס"מ 20.474  (  א.4

 ECס"מ =  3.125. 1ב     

 ABס"מ =  14.224. 2ב     

 .ס"מ 41.07ג.      
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 68א.   (6  

 P = 0.53ב.        

 תלמידים. 125,000ג.        

 לא צריך להשתתף בתגבור. 57תלמיד שקיבל ד.        


